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abuse than non- | to blame for
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THE HEALING
JOURNEY
ORIGAMI QUIZ

% Cut out the square. %

% Fold the corners
back so they meet
in the middle.

% Turn and fold
new corners back %%
to meet in the
middle.

#* Fold the square

and make creases

both lengthwise
and widthwise.

3% Turn over and n

insert thumbs and [\ ]\

forefingers into the
corners and pinch

them together to
make the points

meet in the
middle.

www.thehealingjourney.ca
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traitements que les | responsable de
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que les pointes
se rencontrent au

milieu.
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